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PART: PHYSICS 
1. A ball is dropped from height R from the surface of earth, what will be the velocity of ball when it reaches 

to ground. (R is radius of earth.) g is acceleration due to gravity at surface of earth 

(1) 29R (2) OR (4) 3gR 

Ans. (2) 

GMm mv-R Sol. R+h mv?- SMn 

h= R 

mv2 
2 

GMm GMI 
R 2R 

GMm mve 
2R 

vRRoR 
2 

ww 
. 

w 

20 AS 
B 

9V 

Find VA-Va 

(1) 1 V (2) 2V (3) 3V (4) 4V 

Ans. (3) 
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Sol. 

w 
B 

9V 

i3 
i i 1.5 A 
Va-V= 4i2 -2i = 4x 1.5-2 x 1.5 = 6-3 

Va-Ve = 3 

. Two particles each having mass m are revolving around a circle of radius a due to their mutual gravitation 

attraction. Find angular velocity of each mass. 

G 
(3)22 (4) 

Gm 
(1) 

Ans. (2) 

t Sol. 

For circular motion 

Gm moa 9m 2 Gm 
4a3 (2a) 4a 

Position vector of a particle at time t is Y = 6ti+10tj + 7k. Resultant force on the particle will be 

(2) along positive z-axis (1) in x-y plane 

(4) in y-z plane (3) along positive y-axis 

Ans. (3) 
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Sol. T 6t+10tj+7k 

V 6i +20t 
dt 

a 20j 

So force wil be along positive y-axis 

A, B& C are lt, 2nd& 3rd excited states of hydrogen atom. Find 
2 

5. 

B 

(4) ( 15 (2)20 
Ans. (2) 
Sol. 

n=4- 

-B n=3- 

n 2 

R 
36 R ) - 5R M 

So 
2 5R 144 
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6. Total charge stored on all the three capacitors is 100 C. Find x. 

Ju 

ov 
(1) 5uF (2) 10uF (3) 15uF (4) 4 

Ans. (1) 

Sol. Cog 3 +2+x = 5+x 

Q= CeaV = (5 + x) 10= 100 

5+x = 10 

X=55 

7. A has half life of 5 years. Find the fraction of A that might have decayed after 15 years 

(1) 1/8 (2) 7/8 (3) 1/4 (4) 3/4 

Ans. (2) 

Sol No N 
2 

for n= 3 

N 
fraction left is 1 

A Container contains H2 gas & Ar gas mass ratio of both the gases in the container is 2 1 at same 

temperature 30°C. Find ratio of average kinetic energy per molecule of both the gases: 

(1) 5/2 (2) 5/3 (3) 3/2 (4) 4 

Ans. (3) 

Sol. <x> = /2 kKT 

So,H So,KAr> Ar 
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In single slit diffraction experiment angular position of first minima is 30°. If wavelength used is 600 nm 9. 

then find the slit width. 

(1) 0.3 um (2) 0.6 uF (3) 1.2 um (4) 1.8 um 

Ans. (3) 
Sol. asin 

asin30=F 
a = 2 

1200 nm = 1.2 um 

10. Velocity of wave in water v= gPp find value a, b, c 

2) 02 (4) 1,0, (3) 1, 1,0 

Ans 
M°LIT-1= L'LOT-2M°L-3 
(1) 

Sol. 

M°L'T-1 = M°T-2 La*b-ac 

C 0 

b t 1/2 

a0-1 

a2 
V= 1g2p 

11. A particle of mass 10 kg experiences a force F = 5x along x-axis. Find work done by the force F on the 

particle from x= 2 to x = 4: 

(1) 10J (2) 15 J (3) 30 J (4) 40 J 

Ans. (3) 

w-Fdx-5xdx -5 xdx Sol. 
2 

W=4-2]-;[16-4] w= 5/2 x 12 = 30 J 

12. Minimum angle of deviation for equilateral prism of refractive index n = v2 will be 

(1) 60 (2) 40 (3) 30 (4) 15 
Ans. (3) 
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n=SinA+Omin) 

sin 
Sol. 

=2-Sin60+ 8min 
60 sin 

2 sin30° sintOmin 
2 

60+ Omin Sin 

45° 0+Omin 
2 

Omin30 

13. y-component of given position vector A is 2N3 m. Then x component of position vector will be 

30 

(1) 2m (2) 4m (4) 3m 

Ans. (1) 
Sol. tan 30° xly 

X =y+ tan30 

25 = 2m 

14. At a general point electric field intensity due to an electric dipole is proportional to. 

(1) (2) 
2 

(8) (4) 

Ans. (1) 
Sol. At an angle 

E 1+3coso 
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15. Work done by gas in following cyclic process will be 

400 Pa- 

100 Pa-- 

v(m) 

(1) 100 J (2) 200 J (3)-200 J (4)-100 J 
Ans. (2) 

Sol. W Area 

2x 300 = 300 J 

16. De Broglie wavelength of an electron of kinetic energy E will be 2. then de-Broglie wavelength of the 

electron with kinetic energy E/4 will be: 

(1) /2 (2) 23 (3) (4) 4. 

Ans. (2) 

h 
2mE 

Sol. 

2 J2mE 2m 

17. Current I through battery will be 

102 

102 
ww- 
102 

10V 
(1) 0.5 A (2) 1A (3) 1.5 A (4) 2 A 

Ans. (3) 

Resonance Eduventures Ltd. 
Reg. Office & Corp. Office: CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.) 324005 

Ph. No.: +91-744-2777777, 2777700 | FAX No.: +91-022-39167222 
To Know more: sms RESO at 56677 | Website: www.resonance.ac.in| E-mail :contact@resonance.ac.in | CIN: u80302RJ2007PLCO24029 

Toll Free: 1800 258 5555 7340010333 fatoex.om lesvrctd wtter cmfieranettu wwwyorube.comresowatch bog reonoe aci 
This solution was download from Resonance JEE (Main) 2023 Solution portal PAGE #7 



R JEE (Main) 2023| DATE: 15-042023 (SHIFT-1)1 PAPER1 MEMORY BASED I PHYSICS 
Sol. 

1052 
w 

w 

102 

10V 

Req=2Ox 10 
20+ 10 30 3 

20020 

1010xS=1.5 A 
Req 20 

18. A string is fixed at its both the ends. Linear mass density of the string is 20 gm/m. String vibrates in ts 1st 

harmonic with frequency 50 Hz. Find speed of the wave on the string. Total mass of the string is 18 gm. 

(1) 100 m/s 

(2) 
(2) 90 m/s (3) 30 m/s (4) 60 m/s 

Ans. 

Sol. 8 0 

20 10 0.9m 

f- V = 2f/ = 2 x 50 x0.9 90 m/s 

19. In SHM 

Statement-1: Direction of acceleration and displacement are always opposite to each other. 

Statement-2: Acceleration is minimum at extreme position 
Statement-3: Velocity is maximum at mean position. 

Statement-4: Force is directly proportional to displacement. 
Which of the above statement is/are correct: 

(1) SS2 (2) S1S3S4 (3) S2SS (4) S2S 
Ans. (2) 

20. Match the following: 

(i) infrared 

(i) microwave 

i) ultra violet 

(iv) x-rays 

(1) 400 nm-1 nm 

(2) 0.1 m-1mm 
(3) 700 nm-1mm 

(4) 1nm 10-3 nm 

(1) (i)3, (i) >2. (i)1, (iV) >4 (2) i)1, (i) >2, (iü) >4, (iv)->3 
(3) ()3, i)-> 1, (Gii)-2, (iv) > 4 4))>1, (i)>2, (i) 3, (v) > 4 

Ans. (1) 
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